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total = odeo =Jl\'f7 pushq %rbp
do i = 1, 1000 movq %rsp, %rbp
total = total + a(i) — pxor %Xmmo, %xmmo

end do movsd %xmmo, t(%rip)
movl $0, i(%rip)
movl i(%rip), %eax
cmpl $1000, %eax
jge ..Bl1.4
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ifort (-fast)test.f90 -o test
gfortran -0 test.f90 -o test
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do i , 10000
a(i a(i) / 3de

= 1do / 3deo
do i = 1, 10000

a(i) = a(i) * b
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do i = 1, 10000
do j = 1, 10000
do k = 1, 10000

k
c(i, j) = c(i, j) + a(i, k) * b(k, J)
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integer(8) :: countl, count2, rate, mx

call system _clock(countl, rate, mx)
do i = 1, 10000
do j = 1, 10000
do k = 1, 10000

c(i, j) = c(i, j) + a(i, k) * b(k, J)
end do
end do
end do
call system clock(count2)
write(*, *) 'Time = ', dble(count2 - countl)/rate
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1, 10000

= a(i) * 2.0

= b(i) * 2.0

= c(i) * 2.0 do i = 1, 10000
b(i) = b(i) * 2.0

z(i) * 2.0
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do i = 1, 10000
o3j =1, 10000
a(i, j) = a(i, j) + 1.0

d

do j = 1, 10000
do i = 1, 10000
a(j, i) = a(j, i) + 1.0
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ifort D& :

ifort -fast(-parallel test.f90 -o test
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export OMP_NUM_THREADS 4
./test (
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do i1 =1, 100
a(i) = b(i) + c(i)
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real(8),dimension(25)::a, b, ¢

real(8),dimension(25)::a, b, ¢

doi=1, 25 .
a(i) = b(ijdo i = 1, 25| .
Ja+x0 a(i) = b(i]go i

real(8),dimension(25)::a, b, ¢

real(8),dimension(25)::a, b, ¢
1

b(ildo i = 1, 25

JO+X 1 a(i;
JOotX2 a(i) = b(i) + c(i)
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call MPI_Comm_rank(MPI_COMM_WORLD, myid, err)

if (myid == 0) then
call MPI_Send(a[5], 1, MPI_INTEGER, 1, &
®, MPI_COMM_WORLD, err)
else if (myid == 1) then
call MPI_Recv(a[3], 1, MPI_INTEGER, O, &
©, MPI_COMM_WORLD, status, err)
end if
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real(8), dimension(12) :: a

do.i.= 2, 12
a(i) = a(i) + a(i-1)
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program Speed_ Check
implicit none
integer -: 1, J
real(8), dimension(10000,10000) :: a
integer(8) :: countl, count2, rate, mx

a=2~0
call system clock(countl, rate, mx)
do 1 =1, 10000

do j = 1, 10000

a(i, J) = a(i, j) + 1.0

end do
end do
call system_clock(count2?)

write(™, "(A14F7.3)") "Type 1 Time = ", dble(count2 - countl)/rate

a=2~0
call system clock(countl, rate, mx)
do i1 = 1, 10000

do j = 1, 10000

a(, 1)) =a@g, 1) + 1.0

end do
end do
call system_clock(count2?)
write(™*, "(A1l4F7.3)") "Type 2 Time = ", dble(count2 - countl)/rate

end program Speed_ Check
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